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Date 

Multiply he folloconqO,too3lCoe 

0.481 0.48} xI0: 4.87 

O 481x |00 = 49.T 

O 48t x|000= 4 34 

b65 61-0.56t1x10 5.67 
O.5671x l00 5 6 .71 

.56|x lO00 56. 

6.063x 10= 60.63 
6.063 X IO0 = 606.3.0 

6O63 A000= 6O63 

coG-063 

d .4 861 .461 l0= 4.36 
24361100 43.6) 
24361x l000- 246.1 

51-335- 51.335oxl0- 513.35 e 

51-835x (O0= BI83S 
51-835 000 1335 

123.6 123.6 = 123.6x0= |236 
23.6x IOO =D260 

123.6x|O00 |236000 



Bxerccise 10 (C) 
Date 

Page 

O.Oo9 -O-OOox 10 OO.,o0 
O.000 100OO0.o9
O. 0 00Q I00O=O0oO9

9 

h- .O02 15-002x10 150.02 
15.000x100 = 1500.2 

15 o02x 1000=5002 

h 

2Find the aues of the follbing 

a O.431 io0o 483.7 
. 3x Oooc 

103. 3 1O0 
.20 3 lO = 

O.OoO x1O0= 

T O xlO = 
O8.2 1OO LOO920 

30 
2-03 

O.0 

h -O309 1o00 = bo,q 



Date 
Page 

H Q1 Fnd 
the 

prroduct 

Al2ExemciSetO 

b)1622 
.88 

6 82 6 

1232 4 
31t. 56 

30.56 

30.08 

d-4.032 
35 

e) O. 44 
315 

2.00 
150 

201 6 
222 56X 
423 20 

235 
32X 

t41 x OO4OK 
+0 0 3xx 

6,25 301.2o 0 

Findhe he prE cduc 
3.4 
0.12 
62 

b)O.314 6 .32 
.05 
O-o1513 0. 105 6 

OOO8 

2.20 

d O.01 
O64 

TOOG 
o.L 

o.0310 o.Op 26 
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21.2 
Dafe 

Page H 

a 2.4 60 1u3.3 
b 43 x 600= 1483 
C .43x 0.6 .438 

OGx2.43 0.lu8 
2.43x GOOO=\ug30 e 

6a O.56xt- 3.934 
S6x7 = b 3 3934 
o.5 6)x1= 
62t= 39.3 
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